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Solutions to smp-8228-2/NIGV

Worksheet

Problem quickname: 8228

1)

Calculate the result.
a) 3-6 =18
e)d-b =25
i)6-4=24
2)

Calculate the result.
a) 15-7 =105
e) 17-9 =153
i) 17-5 =285
3)

Calculate the result.

a) 18 - 33 = 594
e) 1114 = 154
i) 16 - 28 = 448
4)

Calculate the result.

a) 15 - 25 = 375

d) 24 - 44 = 1056
g) 2391 = 2093
i) 28 - 71 = 1988

Good Luck!
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b) 5-8 = 40 5=
£)8-8=64 g) 6-5=30 h)

b) 155 =75
£)17-7 =119
) 16-2 =32

b) 14 -12 = 168
£) 12 - 48 = 576
i) 17-42 =714

b) 13- 93 = 1209
¢) 34 - 89 = 3026
h) 32 - 55 = 1760

¢) 16 -5 =80
g) 13-5 =65

¢) 1717 = 289
g) 1225 = 300

c) 3713 = 481
f) 14 - 73 = 1022
i) 39 - 54 = 2106
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d) 13- 8 = 104
h) 15-3 = 45

d) 13- 26 = 338
h) 17 - 29 = 493
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